# अनुबंध|Contract



अनुबंध क्रमांक | Contract No: GEMC-511687754910533

अनुबंध तिथि | Generated Date : 12-Aug-2024

बोली/आरए/पीबीपी संख्या|Bid/RA/PBP No.: <u>GEM/2024/B/4841259</u>

# अनुसूची नाम|Schedule Name:Schedule 10,Schedule 14

संगठन विवरण|Organisation Details

प्ररूप|Type: Central PSU मंत्रालय | Ministry : Ministry of Coal विभाग | Department : COAL INDIA LIMITED संगठन का नाम|Organisation Name : WESTERN COALFIELDS LIMITED कार्यालय क्षेत्र|Office Zone: WCL NAGPUR MAHARASHTRA

खरीदार विवरण|Buyer Details

पद|Designation : Manager MM संपर्क नंबर | Contact No.: 0712-2511383-5824 ईमेल आईडी|Email ID : sachin.khodke@nic.in जीएसटीआईएन|GSTIN: 27AAACW1578L1ZW

WCL Hqrs, Coal Estate, Civil Lines, पता|Address : NAGPUR, MAHARASHTRA-440001, India

वित्तीय स्वीकृति विवरण|Financial Approval Detail

आईएफडी सहमति | IFD Concurrence :

प्रशासनिक अनुमोदन का पदनाम| Designation of Administrative Approval:

वित्तीय अनुमोदन का पदनाम|

Designation of Financial Approval:

भुगतान प्राधिकरण विवरण | Paying Authority Details

PAO भुगतान का तरीका| Payment Mode:

Role:

पद|Designation : Dy Manager Fin ईमेल आईडी|Email ID: mukesh.alluri@coalindia.in जीएसटीआईएन|GSTIN : 27AAACW1578L1ZW

WCL Hars, Coal Estate, Civil Lines, पता|Address:

NAGPUR CITY, MAHARASHTRA-440001, India

विक्रैता विवरण|Seller Details

जेम विक्रैता आईडी|GeM Seller ID : 91E7190000920938

कंपनी का नाम|Company Name : BALMER LAWRIE AND COMPANY LIMITED

संपर्क नंबर|Contact No.: 03322225516

ईमेल आईडी|Email ID : mishra.r@balmerlawrie.com

21,BALMER LAWRIE HOUSE,21 Netaji Subhash Road, Kolkata,33, पता| Address :

Kolkata, West Bengal-700001, -एमआईआई स्थिति| MII Status :

एमएसएमर्ड सत्यापित | MSME verified : एमएसएमई पंजीकरण संख्या|MSME Registration number :

33AABCB0984E1Z2 (M) . 19AABCB0984E1ZS (M) . (R) . 08AABCB0984E1ZV (B) . 19AABCB0984E1ZS (B) . 26AABCB0984E1ZX (M)

जीएसटीआईएन|GSTIN: , (B) , 27AABCB0984E1ZV (B) , 07AABCB0984E1ZX (B) , 36AABCB0984E1ZW (B) , 26AABCB0984E1ZX (M) , 20AABCB0984E2Z8

 $\textbf{(G)}\,,\,09 \\ \text{AABCB0984E1ZT}\,\textbf{(G)}\,,\,27 \\ \text{AABCB0984E1ZV}\,\textbf{(G)}\,,\,22 \\ \text{AABCB0984E2Z4}\,\textbf{(G)}\,,\,36 \\ \text{AABCB0984E1ZW}\,\textbf{(B)}$ 

\*जिसके नाम के पक्ष में GST/TAX इनवॉइस पेश किया जाएगा|GST / Tax invoice to be raised in the name of - Consignee

CMD WCL

DF

वितरण निर्देश | Delivery Instructions : NA

### उत्पाद विवरण | Product Details

#	अाइटम विवरण Item Description	आइटम विवरण  Ordered Quantity	इकाई   Unit	इकाई मूल्य (INR)  Unit Price (INR)	कर विभाजन (INR)  Tax Bifurcation (INR)	मूल्य (INR में सभी शुल्क और कर सहित)  Price (Inclusive of all Duties and Taxes in INR)
1	उत्पाद का नाम  Product Name : BALMEROL Grade 2 Lithium Base Grease for Industrial Purposes ब्रांड Brand : BALMEROL ब्रांड प्रकार Brand Type : Registered Brand कैटलॉग की स्थिति Catalogue Status: OEM verified catalogue कैसे बेचा जा रहा है Selling As : OEM श्रेणी का नाम और चतुर्थाश Category Name & Quadrant : Lithium Base Grease for Industrial Purposes as per IS 7623 (Q3) मॉडल Model: BALMEROL एचएसएन कोड HSN Code: 2710	72,800	kilogram	144.7	NA	10,534,160
2	उत्पाद का नाम  Product Name : Balmerol SC HT Grease   ब्रांड Brand : BALMEROL   ब्रांड  Brand Type : Registered Brand   कैटलॉग की स्थिति  Catalogue Status: Catalogue not verified by OEM कैसे बेचा जा रहा है Selling As : Reseller not verified by OEM   श्रेणी का नाम और चतुर्थाश Category Name & Quadrant : Balmerol SC HT Grease (Q3)   मॉडल Model: BALMEROL   एचएसएन कोड HSN Code: 27101990	5,642	kilogram	316.6	NA	1,786,257.2
कु	कुल ऑर्डर मूल्य  Total Order Value (in INR)					

क.सं. S.No		परेषिती Consignee	वस्तु Item	लॉट नंबर  Lot No.	मात्रा Quantity	दिनांक के बाद डिलीवरी शुरू करना है  Delivery Start After	वितरण पूरा क तक करना है Delivery To Be Completed By	
1	पद  Designation : - ईमेल आईडी Email ID : shailesh.nimbale@nic.in संपर्क Contact : 07239-241341- जीएसटीआईएन GSTIN : 27AAACW1578L1ZW		BALMEROL Grade 2 Lithium Base Grease for Industrial Purposes	-	546	12-Aug-2024	10-Nov-2024	
		l Stores, Urjagram, Tadali- 442406,	Balmerol SC HT Grease	-	364	12-Aug-2024	10-Nov-202	
पद  Designation : - ईमेल आईडी Email ID : m.khc संपर्क Contact : 07173-2304 उगिएसटीआईएन GSTIN : 27AA		421- AACW1578L1ZW	BALMEROL Grade 2 Lithium Base Grease for Industrial Purposes	-	13,650	12-Aug-2024	10-Nov-202	
	पता Address : Regional Stores, WCL Ballarpur Area PO Sasti Distt Chandrapur (M.S) Pin 442 706, Chandrapur, MAHARASHTRA-442706, India		Balmerol SC HT Grease	-	1,820	12-Aug-2024	10-Nov-202	
	पद  Designation : - ईमेल आईडी Email ID : ss.mangare@nic.in संपर्क Contact : 07175-285019-		BALMEROL Grade 2 Lithium Base Grease for Industrial Purposes	ı	1,092	12-Aug-2024	10-Nov-202	
3	3 जीएसटीआईएन GSTIN: 27AAACW1578L1ZW पता Address: Regional Stores, WCL New Majri, P.O. Shivaji Nagar Chandrapur, CHANDRAPUR, MAHARASHTRA-442503, India	ores, WCL New Majri, P.O. Shivaji Nagar Distt	Balmerol SC HT Grease	-	728	12-Aug-2024	10-Nov-202	
4	पद  Designation : - ईमेल आईडी Email ID : abhin संपर्क Contact : 90102-085 जीएसटीआईएन GSTIN : 27A पता Address : Regional St M.S. Pin 441204, NAGPUR, MAHARASHTRA	72- AACW1578L1ZW ores, WCL P.O. Umrer Project Dist. Nagpur	BALMEROL Grade 2 Lithium Base Grease for Industrial Purposes	-	5,642	12-Aug-2024	10-Nov-202	
5	पद  Designation : - ईमेल आईडी Email ID : kskattimani@westerncoal.gov.in संपर्क Contact : 7172-265351- जीएसटीआईएन GSTIN : 27AAACW1578L1ZW		BALMEROL Grade 2 Lithium Base Grease for Industrial Purposes	-	14,560	12-Aug-2024	10-Nov-202	
पता Address : Regiona DURGAPUR Distt Chan		ores, WCL, Durgapur Opencast, P.O. pur, ( M.S)Pin 442 403,	Balmerol SC HT Grease	-	546	12-Aug-2024	10-Nov-202	
6	पद  Designation : - ईमेल आईडी Email ID : alokkumar@westerncoal.gov.in संपर्क Contact : 0712-2649299- जीएसटीआईएन GSTIN : 27AAACW1578L1ZW पता Address : Regional Stores, WCL PO SILEWARA COLLIERY Dist. Nagpur M.S.; Pin 441 109, NAGPUR, MAHARASHTRA-441109, India		BALMEROL Grade 2 Lithium Base Grease for Industrial Purposes	-	8,190	12-Aug-2024	10-Nov-202	
0			Balmerol SC HT Grease	-	728	12-Aug-2024	10-Nov-202	
7	संपर्क Contact : 07172-237 जीएसटीआईएन GSTIN : 27A	AACW1578L1ZW Dres, WCL P.O. GHUGUS COLLIERY Distt 1505,	BALMEROL Grade 2 Lithium Base Grease for Industrial Purposes	-	14,560	12-Aug-2024	10-Nov-202	
8	पद  Designation : - ईमेल आईडी Email ID : mr.p संपर्क Contact : 07239-241 जीएसटीआईएन GSTIN : 27A	341-	BALMEROL Grade 2 Lithium Base Grease for Industrial Purposes	-	14,560	12-Aug-2024	10-Nov-202	
-	पता Address : Regional Stores, WCL Wani North Area , PO UKNI, Tahsil WANI Dist Yavatmal (MS)Pin 445 304, YAVATMAL, MAHARASHTRA-445304, India		Balmerol SC HT Grease	-	1,456	12-Aug-2024	10-Nov-202	
		MEROL Grade 2 Lithium Base Greas	e for Industrial Purpo	ses				
विनिर्देश Specification		उप-विनिर्देश Sub-Spec	श Sub-Spec मूल्य Value					
ypes		Туре			Extreme	ctreme pressure ( EP )		
Grade		Grade of Lithium Base Grease for Industrial Purposes			Grade 2	Grade 2		
		"Consistency of worked grease at 25±5°C : 60 double strokes "				295 for grade 2 Il not differ by more than 30 units fr		
		"Consistency of worked grease at 25±5°C: 1	OUUUU SII OKES "	the 60 double strokes "				

	"Free alkalinity (as LiOH) perc	ent by mass, Max"	0.1 (for 1, 2, 3 grade)		
	Drop point, °C, Min		180		
Requirement for Lithium Base Grease for Industrial Purposes	Copper strip corrosion at 100°C for 24 hours		Negative		
	"Leakage and deposit forming	"Leakage and deposit forming tendencies (wheel bearing test ): Leakage by mass (g), Max"			
	"Leakage and deposit forming tendencies (wheel bearing test ): Deposits in the wheel bearing races or rollers "		Shall be free from de	posits	
	"Leakage and deposit forming tendencies (wheel bearing test ): Evidence of abnormal changes in the consistency or structure of the material "		Observations are to b	oe reported	
	"Leakage and deposit forming tendencies (wheel bearing test ): Indication of dry running of races "		No dry running of rac	ces	
	"Resistance to water wash at	15 (for 1, 2, 3 grade)			
	"Heat stability, percent loss b	5 (for 1, 2, 3 grade)			
	"Oxidation stability ( 100 h) dı	0.5 (for 1, 2, 3 grade)			
	"Freedom from deleterious p	0.7 (for 1, 2, 3 grade)			
	Roll stability test penetration	25			
	Corrosion preventive test, rat	1			
	IP dynamic antirust test, ratin	0			
	-	5000			
		"Low temperature torque test at -20°C : Starting torque,gm/cm, Max"  "Low temperature torque test at -20°C : Running torque gm/cm, Max "			
	Four ball wear load kg, Min	1000			
		200 (for EP, EP-3 type)  0.6 (for EP, EP-3 type)			
		Four ball wear scar dia, mm, Max			
the nurchaser and the suppli		in metal or any other suitable containers as agreed to between	20 for EP type  MS Barrels		
acking , Marking and Labelling	the purchaser and the supplier  Packing size (Kg)		182		
			IS : 7623 (Latest)		
	Conformity to specification		YES		
	Whether ISI Marked				
Certification	CM/L Number (Must declare if ISI Marked)		7623 NA		
		RDSO Approval			
		be submitted to the buyer on demand	NA		
est Report Details	Availability of Test Report from Must be declared)	YES			
Fest Report Details					
Fest Report Details	Test Report to be furnished to Report is not available)	o the Buyer on demand (Must be declared, write NA if Test	YES		
खरीदार परिभाषित अतिरिक्त विशिष्टता Purposes	Report is not available)	dditional Specification for BALMEROL Grade 2 Lith		for Industrial मूल्य Value	
खरीदार परिभाषित अतिरिक्त विशिष्टता Purposes विनिर्देश Specification	Report is not available) के लिए  Buyer Defined Ac	dditional Specification for BALMEROL Grade 2 Lith		Г	
खरीदार परिभाषित अतिरिक्त विशिष्टता Purposes विनिर्देश Specification	Report is not available) के लिए  Buyer Defined Ac	dditional Specification for BALMEROL Grade 2 Lith		मूल्य Value	
खरीदार परिभाषित अतिरिक्त विशिष्टता Purposes विनिर्देश Specification Acceptance & Submission of document	Report is not available) के लिए   Buyer Defined Ac	dditional Specification for BALMEROL Grade 2 Lith		मूल्य Value	
खरीदार परिभाषित अतिरिक्त विशिष्टता Purposes विनिर्देश Specification Acceptance & Submission of document Product Specification for Balr	Report is not available) के लिए   Buyer Defined Ac	dditional Specification for BALMEROL Grade 2 Lith		मूल्य Value	
खरीदार परिभाषित अतिरिक्त विशिष्टता Purposes विनिर्देश Specification Acceptance & Submission of document Product Specification for Balr	Report is not available) के लिए   Buyer Defined Ac	dditional Specification for BALMEROL Grade 2 Lith	ium Base Grease	मूल्य Value	
खरीदार परिभाषित अतिरिक्त विशिष्टता Purposes विनर्देश Specification acceptance & Submission of document Product Specification for Balr	Report is not available) के लिए   Buyer Defined Ac	dditional Specification for BALMEROL Grade 2 Lith itions (ATC Document). उप-विनिर्देश Sub-Spec	ium Base Grease	मूल्य Value	
खरीदार परिभाषित अतिरिक्त विशिष्टता Purposes विनिर्देश Specification Acceptance & Submission of document Product Specification for Balr विनिर्देश Specification	Report is not available) के लिए  Buyer Defined Access as per attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen attached terms a	dditional Specification for BALMEROL Grade 2 Lith itions (ATC Document). उप-विनिर्देश Sub-Spec	ium Base Grease	मूल्य Value	
खरीदार परिभाषित अतिरिक्त विशिष्टता Purposes विनिर्देश Specification Acceptance & Submission of document Product Specification for Balr विनिर्देश Specification Custom Specification	Report is not available) के लिए  Buyer Defined Access as per attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen as a seen attached terms & conditions are not seen attached terms a	dditional Specification for BALMEROL Grade 2 Lith itions (ATC Document). उप-विनिर्देश Sub-Spec	ium Base Grease मूल्य Value Yes	मूल्य Value YES	
Purposes নিনিইখ Specification Acceptance & Submission of document Product Specification for Balr নিনিইখ Specification	के लिए  Buyer Defined Acts as per attached terms & condition	dditional Specification for BALMEROL Grade 2 Lith itions (ATC Document).  उप-বিনিইश Sub-Spec  Custom Specification  mkp.gem.gov.in/catalog_data/catalog_support_document/20/ ument/2024/5/22/2024_05_22_11_55_02_balmerol_sc_ht_great 06_56f365f40444	ium Base Grease मूल्य Value Yes	मूल्य Value YES	

# शद्धिपत्र|Corrigendum

- 1. GeM-Bidding-Corr-6290052-1.pdf :यहां क्लिक करें| click here
- 2. तक बढ़ाया गया|Extended Upto: 2024-05-23 11:00:00
- 3. GeM-Bidding-Corr-6290052-4.pdf :यहां क्लिक करें| click here

# ईपीबीजी विवरण | ePBG Detail

सलाहकार बैंक   Advisory Bank :	ICICI
ईपीबीजी प्रतिशत (%)   ePBG Percentage(%):	5.00

बोली लगाने वाले को बोली के नियमों और शर्तों के अनुसार लागू ईपीबीजी प्रस्तुत करना होगा |The bidder shall furnish ePBG as applicable as per bid's terms and conditions

### नियम और शर्तें|Terms and Conditions

- 1. General Terms and Conditions-
- 1.1 This contract is governed by the General Terms and Conditions, conditions stipulated to this Product/Service as provided in the Marketplace.
- 1.2 This Contract between the Seller and the Buyer, is for the supply of the Goods and/ or Services, detailed in the schedule above, in accordance with the General Terms and Conditions (GTC) unless otherwise superseded by Goods / Services specific Special Terms and Conditions (STC) and/ or BID/Reverse Auction Additional Terms and Conditions (ATC), as applicable
- 2. Buyer Added Bid Specific Terms and Conditions-
- 2.1 Generic

OPTION CLAUSE: The Purchaser reserves the right to increase or decrease the quantity to be ordered up to 25 percent of bid quantity at the time of placement of contract. The purchaser also reserves the right to increase the ordered quantity by up to 25% of the contracted quantity during the currency of the contract at the contracted rates. Bidders are bound to accept the orders accordingly.

#### 2.2 Generic

Buyer Organization specific Integrity Pact shall have to be complied by all bidders. Bidders shall have to upload scanned copy of signed integrity pact as per Buyer organizations policy along with bid. Click here to view the file

#### 2.3 Certificates

Bidder's offer is liable to be rejected if they don't upload any of the certificates / documents sought in the Bid document, ATC and Corrigendum if any.

### 2.4 Forms of EMD and PBG

Bidders can also submit the EMD with Payment online through RTGS / internet banking in Beneficiary name

WESTERN COALFIELDS LTD

Account No.

10205966091

IFSC Code

SBIN0009060

Bank Name

STATE BANK OF INDIA

Branch address

COAL ESTATE BRANCH CIVIL LINES, NAGPUR 440001

Bidder to indicate bid number and name of bidding entity in the transaction details field at the time of on-line transfer. Bidder has to upload scanned copy / proof of the Online Payment Transfer along with bid.

2.5 Buyer Added Bid Specific ATC:

Buyer Added text based ATC clauses

- 1. Instruction to MSE Bidder: If the MSE bidder wants to avail MSE purchase preference then bidder has to re gistered their status as MSE on GeM portal and also will have to claim purchase preference on GeM p ortal while participating in bid, in case bidder failed to claim MSE purchase preference on GeM portal then they will not get benefit of MSE purchase preference.
- 2. In case of issuance of contract for part items the technical specifications of the respective items shall be applicable for the items included in the contract.
- 3. In the bid document the Unit of Measurement for Schedule no 8 & 9 should be read as "Liters" instead of "Pieces " .
- 4. The clause no 2 in ATC/Commercial terms. i.e. RELAXATION NORMS FOR STARTUPS & MSEs is ap plicable for prior experience only (cl no 8 of Part-A), however, all technical parameters and other terms and con ditions of PART A should be complied for each quoted grade.
- 5. In the buyer specification document, 'SI no' indicated as 01 may read as 11 (i.e. for item/ schedule Sr no 11: Transmission/Hydraulic Oil SAE 30)

6.Pre-contract Integrity Pact: Applicable

7. For Security Deposit Clause Refer Clause no 8 given in ATC/commercial terms.

Note: In cases where the successful tenderer did not submit the security deposit a penalty equivalent to 0.5% ( half percent) of SD amount for delay of each week or part thereof would be imposed (for detail refer cl no 8 give n in ATC/Commercial terms).

2.6 Buyer Added Bid Specific ATC:

Buyer uploaded ATC document Click here to view the file.

नोट: यह सिस्टम जनरेटेड फाइल है। कोई हस्ताक्षर की आवश्यकता नहीं है। इस दस्तावेज़ का प्रिट आउट भुगतान/लेनदेन उद्देश्य के लिए मान्य नहीं है।

Note: This is system generated file. No signature is required. Print out of this document is not valid for payment/ transaction purpose.